Tuesday

Monday

1. Draw the least number of coins 1. 4 8,12, :’"‘ 6' , :‘ 'lO
needed to make 45c.

2. How many right angles
@ @ has a rectangle? i

2.643+ b =15 3.19 - 7-\'1
3 3 il 4. Write the time 2 past 10
. How monystraws. el in digital form. (g: )

5. How many cents in €1:53? | _&

6. Tick the lighter bag.

4. How many right angles s e
has a square? |3 . ‘

5.21+17=§.§. 7,3q+20-_-5§_

6. Match. 8. Colour 7 of the apples.

fourth % 10th d®OOOOOD

“i“:: :t: Look at the graph below.
ten t 2nd Class — Favourite colours

712+ 12+ 12+ 12= Lg

*
)

8. The last month e
of the year is _Decemver
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9. Write thetime 5 o clock
in digital form. ~

10. What 2-D shape lS my pencnl yellow green blue  red

case? - . Which is the ‘most popular
—“mﬂﬁ— colour? :

a«egﬁ
1. There were 21 frogs in @ pond 10. w.?,'ﬁh,"s,f‘ e least popular?

If 9 frogs left the pond, how Eveo .

~ many frogs would be left? ‘Q_ i
- 11. How many children
12 A piece of rope was 74m long B areintheclass? 26
- Jack cut off 32m. What length .
of rope is left in metres7 L\'lm- |

0
E

\\

12 How many more children
prefer green than red? 10

was
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Thursday

. Is this a right angle?
[ Yes | | No

-

2. Write these numbers in order,

starting with the largest:
31, 29, 21, 23.

DI B S B

2. Add 10t0 59. &4
3.17-9=1§

4. Write the time 3 past 4
in digital form. ;

5. How many 5c coins in 50c? 16

)

. 120, 140, 160, 180

. 1 hundred +

6. Tick the heavier animal. 5 tens + 4 units = IS'L|

... 3
zae'r Iu

7.36 +20= 56

. 1of 12 = 1R

. Circle the smallest amount.
€203 50c €110

, 93 — 50 = PSS
. 30c + 30c + 20c = 80c

1
8. Colour 7 of the carrots.

Y

9. Circle the number that does not
belong

N 7 N

10. Write these numbers in order,
starting with the smallest:

41, 48, 42, 40.
a0 g u‘l,;h%

q. Write the time + 5 past q

in digital form. ‘q 30

10. Tick the lightest obJect

| "i'-her.eﬁ;\;él;; two horse chh estnut trees.
One had 42 horse chestnuts and the

other had 55.

11. How many horse chestnuts
~ did the two trees have
altogether? a9

s

12 If wind blew 22 horse chestnuts
off the trees, how many did
the two trees have left? 3 5




